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QUESTION 1

Which of the following would a non-technical manager be LEAST interested in regarding migration to Enterprise PL/I? 

A. Amount of computer resources needed for the conversion 

B. How many programs would be affected and the effort required 

C. Whether training programs would be needed 

D. Which Enterprise compiler options should be specified 

Correct Answer: D 

 

QUESTION 2

What will be printed, if anything, to SYSPRINT after the following statements are executed? 

CALL REVERSEIT(\\'PL/I\\'); 

(SUBSCRIPTRANGE,SIZE,STRINGSIZE): 

REVERSEIT: PROC(31); 

DCL(I,J) BIN FIXED(31); 

DCL (S,T) CHAR(100) VARYING; 

T = S; 

J = 0; 

I = 0; 

DO I = LENGTH(S) TO 1; 

J = J + 1; 

SUBSTR(T,J,1) = SUBSTR(S,I,1); 

END; 

PUT(T); 

END; 

A. `PL\\'I\\' 

B. `I/LP\\' 

C. SUBSCRIPTRANGE error will be raised. 

D. STRINGSIZE error will be raised. 
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Correct Answer: A 

 

QUESTION 3

In which of the following examples will a dummy argument be passed? 

A. DCLA EXT ENTRY;DCL (X,Y) FIXED BIN;CALL A(X,Y); 

B. DCL A EXT ENTRY (FIXED, BINARY);DCL (X,Y) FIXED BIN;CALL A(X,Y); 

C. DCL A EXT ENTRY (FIXED BINARY);DCL (X,Y) FIXED BIN;CALL A(X,Y); 

D. PGM: PROC OPTIONS(MAIN);DCL (X,Y) FIXED BIN;CALL C (X,Y); 

E. PROC (A,B);DCL (A,B) BIN FIXED;END C;END PGM; 

Correct Answer: B 

 

QUESTION 4

Which of the following is a typical deadlock situation? 

Situation 1: 

Transaction A waiting for resource_2 and Transaction B waiting for resource_1 while resource_1 is held by 

Transaction C and resource_2 is held by 

Transaction B 

Situation 2: 

Transaction A waiting for resource_1 and Transaction B waiting for resource_2 while resource_1 is held by 

Transaction B and resource_2 is held by 

Transaction C 

Situation 3: 

Transaction A Waiting for resource_2, Transaction B waiting for resource_3, Transaction C waiting for 

resource_1 ,while resource_1 ,resource_2 and resource_3 are held by Transactions A, B and C 

respectively. 

Situation 4: 

Transaction B waiting for resource_1 and Transaction C waiting for resource 2 while resource_1 is held by 

Transaction C and resource_2 is held by 

Transaction A 
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A. Situation 1 

B. Situation 2 

C. Situation 3 

D. Situation 4 

Correct Answer: C 

 

QUESTION 5

Requirement: If the value of the numeric variable I is 1 it needs to be changed to 2 and vice versa. In all other cases it
must remain unchanged. Which of the following solutions meets the requirement and does not require essential
structural modifications when the requirement is changed to the following: If the value of the numeric variable I is 512 it
needs to be changed to 731 and if the value is 814 it needs to be changed to 

5. In all other cases it must be set to 111. 

A. lF I = 1 ! 1 = 2THEN I = 3 - I; 

B. DCL ONETWO(2) BIN FIXED(15) INIT(2,1);IF I = 1! I = 2THEN I = ONETWO(I); 

C. SELECT (I);WHEN(1) I = 2;WHEN(2) I = 1;OTHER;END; 

D. IF I = 1 THEN I = 2;IF I = 2 THEN I = 1; 

Correct Answer: C 
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